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Letu=1+¢e*0 du=e*dx

dx

eX

DJ’ oo dx:‘l'%:In|u|+C:In|1+eX +C

Since 1+ e” will never be zero you can replace the absol ute valuesigns with parenthesis.
O Ini+e|+C =In(l+e*)+C

(25) I 1+ 2x2)2dx:I (1+4x> +4x4)dx:I dx + 4I x? +4I x*dx
—x+ Iy +C 21(12x4 +20x* +15) +C
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(27) I xcos(27x?)dx
Let u=2mx? O du = 4nx

DI xcos(2nx2)dx:4if cosudu:4isinu+C:4isin(2nx2)+C
T T T

(29) Icscnxcotnxdx:I BLWBX:I coSTX dx

[sin7x OSin7ix O (sinmx)?
Letu=sinrx 0 du = rrcosrxdx

DJ‘ COSTX dx:l %:1__1+C:—EB__1 H}C

1
: > > ——cscrx+C
(sin7x) ) u° mu TTENTK [ m

(D) [ e”dx

Let u=5x 0 du=>5dx

Dfesxdxzéf e“du:%e”+czéesx+c
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(33) I(e‘x+1) dx
Because 1 _ 1 _ 1 _ e
e+l B%HH B%(Hex)ﬁ d+e)
(e 0 e l
2 B e”
I(e_x+1) dx—ZI (1+ex)dx

See Chapter 7 Section 1 # 23 0on how to do thisintegral



